A & 0l & A &2 F Al
20138 = S0l& LB H ASIMP= ~ 2ASAR=R
S LHEENEE
Bu: Ny o5y MY
€ o g3 N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O3 AR 2 1,165,554 1,066, 162 99,392
g osla e 985,486 906,770 78,716
o s NZ 985,486 906,770 78,716
2 818,986 803,070 15,916
205 23l 817,486 801,570 15,916
01 AF & sl 198,000 198,000 0
LIRSS R g == 900,000& x15H x12& 162,000
xS 200,000& x15H 123 36,000
2 83s+% 365,850 365,850 0
mEIE 2,032,500& x15H « 123 365,850
03 = LH o4 di 35,000 30,000 5,000
molR oFHES0HHI(15 15,000, 000& 15,000
mojd 2oz & (22) 20,000,000 20,000
04 =2 o 4l 36,920 28,400 8,520
mojA oA
2,500,000& 2 5,000
moR oA 1,800,000& »13H 23,400
AN ZH Al =Hz2 &FA
28,400,000& x0.3 8,520
05 ¥ 2I 32 81,000 81,000 0
w2 S 4,800,000& x159Y 72,000
w0 At B A EE 2 A S 1,000,000& x9H 9,000
0B I2A2HYR=F 71,520 71,520 0
w o] & 2,310,000& x1H + 123 27,720
wRoE 1,150,000& x1H 123 13,800
maUARAE 750,000 «3H «12& 27,000
moZAAE 750,000& 1 43 3,000
07 A ZHE AN 5,200 5,200 0
m&E= Al -2 - AXF A2 A
4,000,000 4,000
mBFaEE AT Al 1,200,000& 1,200
08 A=A IEEH S 12,596 10,200 2,396
mojd 20AHza BEE= 1,049,620 128 12,596
09 A= AHBRES 11,400 11,400 0
WO QA2 BEEE 950,000& 128 11,400
305 HHa =S 1,500 1,500 0
01 thaf= & 1,500 1,500 0
mos &4 Zo M-S 150,000& 10X 1,500
°o|E &= Aoltt 63,740 24,700 39,040
201 £B-2dH| 26,740 14,200 12,540




SN QB AR

Ha: Mgy oy M

©el: oF B2S X (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 26,740 14,200 12,540
moR A 2 ABt-2H| 1,000,000& 1,000
WAEDEH (A L QENE)
10,000,000 *23] 20,000
mEaAL= 5,740
0TS 2AMY AA AV 5o FHLY
70,000& «6H «23] 840
OoslEs 28 M2I NExE
100,000 x5 x53| 2,500
Oo@AHL 2 2L 24,000,000 *10% 2,400
202 044 3,500 7,000 A 3,500
01 2L Y| 3,500 7,000 A 3,500
mMOAIH R 2T (22) 50,000& *53| *3H 750
mAHI A N2 (22]) 50,000 x53| x2H 500
moO¥AL X2 (22) 50,000& *53| *3H 750
WHSAAN AHHE NBLF ()
50,000& *53| x6H 1,500
207 SO0 ]| 30,000 0 30,000
01 4| 30,000 0 30,000
moFE=N ME 4 30,000,000& 30,000
301 et A= 500 500 0
10 HAFAHI B a2 500 500 0
mAOILE ¥ SAF FAX 22 AH 24
500,000 500
405 XHAHFI S HI 3,000 3,000 0
02 = A7 3,000 3,000 0
moHESES T A P 30,000& =100 3,000
o|g| A =& 33,000 20,000 13,000
201 et 9| 25,000 12,000 13,000
03 Al H| 25,000 12,000 13,000
mAYE Al - 223 AU &It
10,000,000 13| 10,000
m3M Al - 2(HM,EE,04) MSWa M
ES| 10,000,000 13| 10,000
mBE Al -2 235 QAEE2F ddlal HE
5,000,000 *13] 5,000
203 €2 F=&d| 8,000 8,000 0
03 AIZH =X 2 F XY 8,000 8,000 0
WOlBI A X U HNE S2THE
40,000& x15% x103] 6,000
WOIEKE U (M)
40,000& x5 %103l 2,000




SN QB AR

Ha: Mgy oy M

©el: oF B2S X (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
EE2E M 20,000 20,000 0
201 LBt 9 ]| 20,000 20,000 0
01 AP 22| H| 20,000 20,000 0]
m3oE %2t & sEXE MZE 20,000,000 20,000
HA SA B 49,760 39,000 10,760
201 et | 44,760 39,000 5,760
01 AP 2t 2| d| 10,000 20,000 A 10,000
m] 2 B4~ 2 H] 10,000
O9 34 £&H| 10,000,000 10,000
02 B32ZH| 34,760 19,000 15,760
m Al & & H| K X 34,760
023 HA ANE= KA 5,000,000 5,000
©23 =HOIXN ¥ 3= FA 22l
1,230,000 x12& 14,760
o& 3o& eSItHet =8 5,000,000& 5,000
o& 3o& XY A 10,000,000& 10,000
401 AlEHIZL 2 0HY| 5,000 0 5,000
01 Al&H| 5,000 0 5,000
EEH A2Z2R WES £X(A/Y)
5,000,000& 5,000
HESHAALI (SIS AR=) 180,068 159, 392 20,676
olea 2HH| 51,604 43,672 7,932
Ol 2AY| (AR =) 51,604 43,672 7,932
101 e1214| 51,604 43,672 7,932
03 2INHAZ2ZXNHE %= 51,604 43,672 7,932
mog PR EX 51,604
(OPIR==] 1,187,890 2 128 28,510
oO&aN= 1,357,890 2% x400% 10,864
O3 A B XH| 70,000 x2%H x12& 1,680
OuWEE=xH| 100,000 x2H 12 2,400
OY ZEFIHH| 1,357,890& 2% 100% 2,716
OFd=22R2E 96, 1403 x150%* 1 x12& 1,731
OANZ2AZL2EY 6,010 x150%*20A| 2t*x 128 2,164
(@RS PNE =A== Eey =, 48,0803 x2H 16 1,539
Jl23&Hl 128,464 115,720 12,744
JI223H| (AME=) 128,464 115,720 12,744
201 Yot 2 Y| 44,044 51,700 AT7,656
01 AP 2t 2] H| 28,044 45,700 N 17,656
m] 2 B4 2 H| 12,084




2N

O3 AIR =

Hu: #M2AAY (ABAND2)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OJl2 MEEEHI 3,000& *19%8 x12& 684
OHMN2E =8t 50,0003 x19H x12& 11,400
w2 | 7,000 *19Y x 10! 122 15,960
02 35294l 16,000 6,000 10,000
m=322 2 XA 4,000,000& 4,000
m X Aetdl(20h) 12,000
OXNHSRU, AU KL & AREH
1,000,000& x12& 12,000
202 04| 57,000 45,600 11,400
01 2LHOHI 57,000 45,600 11,400
w2 =E 220,000& x19H x12& 50,160
w2t =& 30,000& 19 x12& 6,840
203 &R =AY 10,820 10,820 0
01 J|22I PR =&Y 3,300 3,300 0
m OIS AIR =2 & 3,300,000& 3,300
02 ROt R =AY 1,520 1,520 0
m &2 A& 2 A 80,000& x19H 1,520
04 ENSIHRF=EY| 6,000 6,000 0
MEASY(MR2) 250,000& = 12& 3,000
WEASY(I2AA) 250,000& x12& 3,000
204 &2 =2 F H| 6,600 6,600 0
01 MM S RHAH| 6,600 6,600 0
w2243 BEX0|&) 350,000& 1 =128 4,200
WS (hz EXI & 100, 000& 2 123 2,400
405 XHoHF SHI 10,000 1,000 9,000
01 JtMt = S F SHI 10,000 1,000 9,000
w2 3o & W . )] 2l 5,000,000& *2CH 10,000




